Multiplicar Tres Polinomios (F)

DO

Ot

Simplifique cada expresion.

(—2k* — K?)(—5k* 4+ 6K (8k — 1)

(36”4 39) (69 + 7)(—7g" — 4¢°)

. (57“2 — 57“)(—27“4 + 37"3)(—37“5 — 47“4)

(=75% +35)(—=5s> — 25%) (=75 + 5)

(=5h° — 2hY)(4R° — 4R (—8h3 + 5h?)
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Multiplicar Tres Polinomios (F) Respuestas
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Simplifique cada expresion.

(2Kt — B*)(—5k* 4+ 6k)(8k — 1)
— 80k% — 66k7 — 41k° + 6&°

- (3¢° +39)(6g + T)(=7g" — 4¢°)
= —126¢" — 3454¢° — 303¢° — 84¢"

(5r% — 5r)(=2rt + 3r3)(=3r° — 4r?)
— 30rt — 35719 — 5577 + 6078

(=78* + 35)(—5s® — 25%)(—Ts + 5)
— —2455% + 1825% + 37s* — 3053

(=5h° — 2h1)(4Rh° — 4h*)(—8h3 + 5h?)
— 160R" — 196h" — 4!t + 40n'°
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